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Ms. Schmidt Intermediate Algebra

f Final Review #10 — Mixed Review

"

1) Solve and check: 2(a-5)+10 = 1 (8a + 24)
2
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2) Write the solution set in interval notation and graph the solution
20 - 2(x+9) <2(x - 5)
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3) Write the solution set in interval notation and graph the solution
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10- 132 - %) > 5(3x - 2)
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4) Determine if the solution to t}?e systems of equations is (4, 6) (0 (' ) r ¢ L(u) = 4
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5) Evaluate: flx) =42 4 50 3, find f(-2)

-9y =y(-? 15 -2 =4H(4)-10-3

6) Solve and check

l() + 4.\', =5xv+18
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7) Express in simplest radical form

,—2V45 — 3v20 - 26
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8) Solve and check

. oY 5
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9) Factor: 5x* —18x+9 LS A
5X2|Sx~BA 9 -9
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(Sx-2)(x-3)
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11) Solve for x by completing the square: x® + 6x — 21 = 0

X2¥6 K ’:(9~\

(x¥ ) =4 149
Tl 30
X 13=32B0O

X = -3:N20

12) Solve and check:

X = 3L -(3r4x) =29

|8 + 4x| = 24

e -3 -3 ~9 -k =39
X =4 Hxzaa X

13) Solve for the roots of the equation by using the quadract(c formula: 4x% + 13x — 10 = 0.
0=4 “Epigal  -jh R VB
h=15 oo } 2 ()
¢ =-10 -5+ \}5571’
b

14) Simplify: 22~
y~iz , VG
6 }«'(OL o 2’5 iﬂ/
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15) Solve for X, Z2(x+1) = Z3(x-1)

2 (x+1) -2(x-1)
X+ Z3%-3
2 = X~3

‘)

16)1s (0. -3) a solution of the system of equations: ~5x +y =~—3 and 3x —8y =24

-5(0) - 3z-3 3(0)-8(-2)23Y

5\ ~32-2 ad=a4
/ / v

17) Use the triangle to the right to answer both parts.

A) Find the value of x.
Y =4 4 5 ,_

B) Find the value of angle 6. Round your answer to the

T g0 (Ms)= B

()

18) Find the inverse function f~1(x) of f(x) = 6x 4+ 7

*=6Y17 %:4"0«)

© ©

19) State the domain of: {(3,0) (-1,1) (52) (4.7) (=3,4)}

D %3}-1,‘5/4,’%

20) Find the product of —3x°and 8x°. h)
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